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Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 2feF FT 77 RN 0 o™ e
Candidates should answer in their own words AT e SR I FET HANNT T
and adhere to the word limit as practicable. &g IR
GROUP-A
-
1. Answer any four questions from the following: 5x4 =20
fAafeie @-ceieat 516 aets Sea wiss

(a) How did Voltaire influence the French Revolution?
TSI PO TN ReRe areife FrafE ¢
(b) What was the ‘Civil Constitution of the Clergy’?
e A6ifae SET 7 &
(c) What were the principles of the Vienna Settlement?
TSR ACTETR 52 Aifowf Ji e ¢
(d) To what extent was the policy of Terror in France justified?
I TEER NS Fo0! ARy e 2
(e) What was the role of Louis Kossuth in the Hungarian revolution?
e R R I el B T 2
(f) Write a short note on ‘Little Napoleon’.
=FY - 93 Boia 9o ke Bl el
(g) Why did the uprising of Paris Commune break out?
7R FRICEA TG (o1 AR 2
(h) How did the First World War lead to the collapse the old empires?
2% Rpiga SO Ao ASegein eie 312 sEfee ¢
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GROUP-B
freta-4

Answer any four questions from the following

fafeRe a-E 51aft arie Sea s

Analyse the socio-economic crises on the eve of the French Revolution.

FAR R2Ea i AN 8 Giafos wFoelem e @t

Make an assessment of the Jacobin Republic. Was the Terror justified?

TR efeerEd b JeiEe FCa | JaP [ gfesmre fee ¢

Would you agree with the view that ‘Napoleon was the Child of the Revolution’?

‘e e Tom feraw - of & @3 1o e 3t 2

How did Metternich try to create a conservative system in Europe? To what
extent was he successful?

iR oI V@I b TN 37 AT Qeieo AR 7 i Foif 7w
AR ?

Do you think that the main centre of revolution of 1848 was Central Europe and
not France?

O & T 3 @ Sv-8b AN Raitdd e e et sy 2ot 151 73 2

Was German unification achieved more by ‘coal and iron’ than by ‘blood and
iron’?

wrfife &< dfFn & 9w 6 @y S e Tl 8 @MY Moq @t @ Afks
Zrfee 7

How did industrialisation in Europe create a new working class? Show how trade
unionism and labour parties emerged through the struggles of this class.

BoeAics P o 3H Tg7 ATEIRA @R SIS (ST ? 93 G A Wy Mew
oI (B BT @R 2 o1afer sits 6us ?

Can the pertod 1870-1914 be termed as the “Age of Imperialism™?
Sb30-5358 IR TIISt PIETCE [ TS ICH Lo o7 3 2

Why were the Bolsheviks successful in the Russian Revolution of 1917? Was it
merely a handiwork of Lenin?

Y9Y9 FER F R Ieoaal (@ 715a e ¢ aft [ e @fem IS = 2
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